50, will be treated as malpractice.

aining blank pages.

appeal to evaluator and /or equations written eg, 42+8

compulsorily draw diagonal cross lines on the rem

2. Any revealing of identification,

Important Note : 1. On completing your answers,
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USN (“ — HEC46
Fourth Semester B.E. Degree Examination, Dec.2018/Jan. 2019
Linear IC’s and Awpllcatlons
Time: 3 hrs. ,. Max. Marks:100
1 Explain the operation of a bésic op-amp, circuit. (08 Marks)

ﬁ“grameters and mention: thelr typical values for op-amp 741 :

Define the following op-amp

i) CMRR ii) slew rateMligﬁg (04 Marks)
Using a 741 op-amp, jdesign a non-inverti mplifier to have a voltage gain of
approximately 66; The input signal amplltude isd5mV. (04 Marks)
The differencesof 2%nput signals is to b%ampllﬁed by a factor of 37. Each input has an

amplitude og SOmV Using Lf353 Op-am design a suitable circuit. (04 Marks)

Sketch?“
operaﬁ@n and also show that thawénp
coupled voltage follower. » - (06 Marks)
A capacitor coupled non &mvertmg amplifier using op-amp 741 is to ave a gain of 100 and
Vo =5V. The load res;stan"@e is 10k<2 and the f%er cutoff frequenoyws to be 100Hz. Design

a sultable 01rcu1t ¢ PY (06 Marks)

input signal levei&{s SOmV the volta%e g in'is to be 68, the‘ load resistance is 500Q2, and the
¢ uency is to be 200H Jse a 741 op-amp. (08 Marks)

&

Explam tﬁe phase—lag and phase= ensation methods briefly. (08 Marks)
Withfs @ﬁé help of neat ,circuit dlagram explam’the Zin MOD method of frequency
compensatlon ) (06 Marks)

Zener diode. Derlve an exf i;,;ssmn relating Vo and V. (07 Marks)
Draw the circuit of an“instrumentation amplifier. Explain its characteristics show how it
voltage gain can be varied. (07 Marks)

gamps with Vgc = 15V, de51gn the high input impedance precmon full -
wave rectifier’ %wxg iit. The input peak voltage is to be 1V and no amplification is to occur.
Assume adequate»dlode current as S00pA. (06 Marks)
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diagrams:
Sample and hold circuit
Logarithm amplifier. ™ (08 Marks)
b. Using 741 op-amp with a supply of +l5V ufd@mgn a phase shift o%ﬁm to have an output
frequency of SKHz. Assume ¢ = 0.01 uF “1,7 (04 Marks)
C. With a neat circuit diagrams and‘ waveforms brleﬂy ,explam the operation of a
triangular/rectangular wave genefé 4 (08 Marks)

s (08 Marks)
n inverting schemitt trigger circuit to

waveforms.
b. Using a 741 op- amp*’

(06 Marks)

c. (06 Marks)
a.

(06 Marks)

b. (06 Marks)

C: upply” Discuss their

advantages and dlsadvantages 3 (08 Marks)

a. With a neat circuit d;agram explain the o mt
the expression for'its output voltage. _ gﬁ;}/

, ¢ (06 Marks)
b. Explam the opc étlon of an astablej»multuvbrator usmg&fm? timer with a neat functlonal

(10 Marks)
(04 Marks)




